0 5 8450 B0l 2 A 5 I=2H?
@D 2.0333--- = 2.03 ® 0.3212121--- = 0.321
® 1.231231---=1.23 @ 3.015015 = 3.015

3 —0.340340--- = —0.34



2.

oS 5 Ao 1do R &2 2 A9
® 0.321321--- = 0.321
® 1.02545454 -

® 3.030303--- = 3.0
.o =1.0254 @ 1.5191919-
3 0.9222... = 0.92

.. =1519



3. TS F R4S BHOR £ AL BE NEWY

@D 0.30404--- = 0.304 @ 1.203203--- = 1.203
3 2.2020--- = 2.202 @ 0.44141--- = 0.441

G 1477 — 147



ol

or

<

201 201
50 55

402
111

®

4015
990

@

4019
999

@



2 vl o), A4t 2t g4t e



6. x=g0i e ) AT} 1Y 2L G457} HER She 4L

@ 100x — x @ 100x — 10x @ 1000x — x

@ 1000x — 10x 3 1000x — 100x



@ 3.509

3 3.54



8. a—03 b=02) c— % olat B ., 4, b, ¢ AFo] o] TAZ LFERY

o}

YEE
-



e 448 2 £AYR Gdstelat

0.135, 0.135, 0.135




10.

% 7} 5.9 AFolo]

5 ER
=%

o]
AN

Lr X
T

T FoA AdrE

ajolat,



& 2% o,

N

o
)

file)
N
[mi
Wl
0|
VI

\1
— O

11.

@ 0.5 ® 0.6

@D 0.2



12.

. 41
19<x< o S WEA]7]

5 ER
=%



= UERfE?

® 1 1.5 @ 2 B 25

@D 05



14. oS 3425 AlLtsta 3452 YEepfoiat,
3.28 4+ 0.16

YEE
=%



15. 0.2x+0.32 =2 & ok x o] & &4 Yehjof=t

S ER
-



16.

@ 10x-x

@ 1000x — 10x

@ 100x — x

3 1000x — 100x

@ 100x — 10x



o
X
o

e

€3

o, 7}

S}
=

x = 0355 B4 8 e

ag
e,
b

el
7r @



18. 0415 =x 2t & o, xx (10° - 1) 9] F-& Fo}oiat.

YR
ct



?

2 T A AA5D T, atb 9 L

e

7} 7+

® 10 11 @ 12 ® 13

@D 9



E10<x<20 % A=)

tofet (H x

S

Ak St xoy O S 7









o]

b LE ol d

S
pi

7+

X
22x5x%x13

23.

2 11 12 @ 13 3 14

@D 10



